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Guess Paper – 2012
Class – XII
Subject –Mathematics

Time allowed:3hrs                        


                                 Maximum marks:100

SectionA

(Question numbers 1-10 carry 1 mark each)

01. Evaluate:
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From A B c
P 16 10 15
Q 10 12 10





02. Find the value of x for which  x(
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03. If f(x) = 
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. Find the inverse of f(x).

04. Prove that : 2 sin-1
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 = tan-1
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05. If A is an invertible matrix of order 2, then det(A-1) is equal to
      A) det(A)      B) 
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     C) 1     D) 0

06. If A is square matrix such that A2 = A, then (I+A)3—7A is equal to

      A) A          B) I-A     C) I     D) 3A

07. If a matrix has 6 elements, write all possible orders it can have.

08. Evaluate: 
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09. Find the area of a parallelogram whose adjacent sides are given by the vectors
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10. Write the Cartesian equation of the plane given by 
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SectionB
(Question numbers 11-22 carry 4 marks each)

11. Solve: tan-1
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tan-1x, (x > 0)

12.Using properties of determinants, prove that
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= 1+ a2 + b2 + c2.
13. Evaluate: 
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14. Solve the differential equation:

          (x3 + x2 + x + 1) 
[image: image18.wmf]dx

dy

= 2x2 + x ; y = 1 when x = 0.
15. If  f : R
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R is defined by f (x) = x2-3x+2, find f (f (x)).

                                                    OR
Determine whether the binary operation * defined on the set N is associative and commutative where a*b = 
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16. Find all points of discontinuity of f, where f is defined by

                              f (x) = 
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                                                     OR
If  
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 for , -1 < x < 1, prove that 
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17. A particle moves along the curve 6y = x3 + 2. Find the points on the curve at which 

      the y- coordinate is changing 8 times as fast as x- coordinate.

                                                       OR
       Find the equation of the tangent to the curve y = 
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 at the point where it   

       cuts the x-axis.
18. If y = 
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, -1< x < 1, show that 
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19. Solve the differential equation: 
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20. Let  
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 . Find a vector
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21. Find the vector equation of the line passing through the point (1,2,-4) and                  perpendicular to the lines: 
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22. A die is thrown 6 times. If “getting an even number” is a success, what is the        probability    i) at least 5 successes   ii) at most 5 successes ?   
SectionC

(Question numbers 23-29 carry 6 marks each)

23. Using matrices, solve the following system of equations:

      2x – 3y + 5z = 11; 3x + 2y – 4z = -5; x + y – 2z = -3.

24. Find the distance of the point (-1,-5,-10) from the point of intersection of the line 
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25. Prove that the radius of the right circular cylinder of greatest curved surface area   

      which can be inscribed in a given cone is half of that of the cone.

                                                      OR
       Show that the height of the cylinder of maximum volume that can be inscribed in a    

       sphere of radius R is 
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26. Evaluate: 
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27. Find the area of the region bounded by the curves y = x2 + 2, y = x, x = 0 and x =3.

28. An insurance company insured 2000 scooter drivers, 4000 car drivers and 6000 truck   

     drivers. The probability of an accident involving a scooter driver, car driver and a   

      truck driver is 0.01, 0.03 and 0.15 respectively. one of the insured person meets with 

      an accident. What is the probability that he is a car driver?

29. There is a factory located at each of the two places P and Q. From these locations, a       

      certain commodity is delivered to each of these depots situated at A, B and C. The      

      weekly requirements of the depots are respectively 5, 5 and 4 units of the commodity    

      while the production capacity of the factories at P and Q are respectively 8 and 6   

      units. The cost of transportation per unit is given below. How many units should be    

      transported from each factory to each depot in order that the transportation cost is       minimum. Formulate the above LPP mathematically and then solve it.
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